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A and B together can complete a work in 12 days.
A alone can complete in 20 days. If B does the
work only half a day daily, then in how many
days A and B together will complete the work ?

A Ten B e U wm &1 12 T § U R Thd 21 A
el S8 20 fG7 # qU 9 dhar 21 4K B & IS Hhad

\"‘

amyr feq v\ Y, 9 A AR B oot 39 %™ & fhdd
f d qu X @1 ?

(1) 10 days / f&3 (2) 20 days / f&

(8) 11 days / T&= (4YT15 days / f&d
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4

A fordt =m = gﬂWﬁZOﬁ?ﬁWﬂ%lﬁﬁ?ﬁ
\ Bmﬁgmlg{dﬂq‘%‘ﬁs{wa@ﬁ‘—ﬁ'ﬁ{{lm‘%l
,(,0— \i? FTH Hl 3Thel HH T TohaTl 0T M2
— 1
K?'Qﬁ/% 375 days / <7 (2) 37 days / A
(3) 40 days / <= (4) 23 days / A
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A can do 40% of a work in 12 days, whereas B can
do 60% of the same work in 15 days. Both work

together for 10 days. C completes the remaining
work alone in 4 days._A., B and C together will

complete 28% of the same work in :

A forsit = = 409), 12 Tl & 2 Gehar , Safe B 39
Fr 1 60%, é%ﬁ < Gehdl g1 &A1 10 f&=1 a6 T

Y T H &1 C 99 9 1 4 T F @ | A)
BﬁICWW%ﬁWWWW.
T F AN? "’?L;bx_l?- .

1 days/ﬁ?&'_-)\ —(2) 3 days/f<A
J

Sl 2
3 _ 1 -
. (3) 15 days/f<A 2 days /<A

Al .
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i ratio of the efficiencies of A, B and C 1@ @

orking together, they can complete a work

4
in 27 days. @()gethe;can complete o th

part of that work in :
A, B 3T C T Zerdeq &1 39 2 : 5: 3 B Th |
FTH FH R d dH 39 27 T § 90 F TFd 21 B 3R

N 4 . N e N .o
C Tt Ao 38 #m % o o A i o f @

FT?
(1) 27 days /&1 o %days/ﬁ‘ﬁ |

1 .
. (8) 17— days/f&i o (4) 24 days/fAi |
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_@ The ratio of the efficiencies of A, B and C @ @
<~

Tw= 963 /ké : @ orking together, they can finish a work in
@- ays. A and B work together for(28 days. The

remainin Wi leted (iirdays) by C
alo
@\QX , 'C I Al &l : :4%IFI°FIT@

W?‘Tﬁqwm:‘rwaﬁ 35 feq ¥ Tar FT TFd 2

AL.OI B U% WY 28 fo9 &M *W 21 99 &M C gN
(2 fei o wara foran S ?
1] 56 (2) 63 (3) 49 (4) 60
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[ / @@ A is as efficient as B and C together. Working
i Qﬂ! g&j together A and B can complete a work in 36 days

and C alone can complete it in 60 days. A and C
work together for 10 days. B alone will complete
the remaining work in :

A 3Tehell 3aT &t 391 € f9ad fF B iR C, <1 faerest
Y et %™ i U A 3R B fdt = & 36 T
T U # € 3R C 3rhel SHRL S 60 i & o

g Cﬁﬁw{ﬁ%wﬁmﬁ%
B T T 2
(1) 110 days/f<A (2) 88 days/ <A

(3) 84 days/faA (4) 90 days /T
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& 4- 3 4 A is 40% efficient than B and
( 4:@ ) ' efficient .JWorking together, they
' L D a work s. In how many days v_v_lg 1A ‘:;]!one

, complete 0 of that work?
'*Hl?_'f"@—ﬁ_ B &t gol | A 40% 319 381 € 991 B &1 go § C
20% HH T Bl TH Y e 3 @i+ fhet &m #1 5
& & U Fd €1 A 3Tohell € 39 HH H 70% foha Al
' H QU Ham?
(1)9 (2) 7 (3) 10 (4) 8

B ¢ 16wl X 6= €0 unif-

A
T 5 8’&)@

(
! ~—
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Qi “@ Working together A and B can do a job in 40 days,
B+ AHC\B and C in 36 days and all three together in 24

L L 94 {ays. In how many days can B alone do the job?

el B U& Wiy fordt & 1 40 el § S oid © B

' Ot a1 faerert fadt =

F1 24 i § X od LB 3hell 29 &1 &l fohaq e
. v-\/\/

(3) 72 (4) 120

-
8= fond
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If A, B and C can do a job working alone in 12,

18 and 36 days respectively. They all work togeth-
er for 2 days, then B quits. How many days will A

and C take to finish rest of the job?
A, B den C fodt &m &1 &89 12, 18 3R 36 fa9 o
FLod 21 9 9t 2 &9 9% T WY FH FW@ T AR

3) 3 (4) 4
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A and B can do a given piece of work in 8 days, B
and C can do the same work in 12 days and A, B, C
complete it in 6 days. Number of days required to
finish the work by A and C is

A 3R B f&u 7u fordi s &1 8 f7 ° ¢ Wehd ©, B 3R
C3H %™ & 12 <9 § #T ¥%hd & 3R A, BT C 39

6 57 o U o Thd 1 A 3R C 3R 39 &M &l [ HH
H forad fe3 e
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Z)_ A and B can separately complete a piece of work
09 20 in 20 days and 30 days respectively. They worked
: lﬁ

together for some time, then B left the work. If A
completed the rest of the work in 10 days, then B

worked for
b A T2 B foREl F 1 STerT-STam %A 20 f7 99 30
C 90 @X3 G o U = gd B SEH B8 IHE 9% Uh Wy e
J’ﬂ F1d foran, dvar B #1_sSea Ja T Ii€ 39 F

& AH 10 <9 & qu fwen =1, @t B A foee 57 9 &0
/:)/ (2) 8 days / f&=

(4) 16 days / T&=
@

7
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oL {mla( ﬁm o:4 A, B and C can do a piece of work in 24, 30 and

A ’ C 40 days respectively. They began the work togeth-
er but C left 4 days before completion of the work.

5% } {'474' "'3 ) In how many days was the work done ?
— |20 A, B 3R C T &M &1 %A 24, 30 3R 40 & # &
hd T Seid HeLHY % H IR fwa fhg ¢ A

fﬁ
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A, B and C can do a work separately in 16, 32 and
48 days respectively. They started the work to-
gether but B left off 8 days and C six days betfore
the completion of the work. In what time is the
work finished?

A, B3R C T %@ &l 3Tc-37el HH9: 16, 32 3R
48 Tt & T Thd €1 9 WI-TY FE ART F © fhg
B &1 99| gF 9 8 f57 Ted 3R C B% 57 Ted wd
g <@ €1 wE fomad faai o qu gem?

(1) 10 days / f&= (2) 9 days / T

(3) 12 days / &= (4) 14 days / T




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A and B can complete a piece of work in 12 and
18 days respectively. A begins to do the work and
they work alternatively one at a time for one day
each. The whole work will be completed in

A T B forel S =1 Al 12 91 18 57 § 9 o
Hhd Bl A @ I 3T AN ¢ 91 IHF 915 o aRI-a/
¥ TH-T& 51+ w3 T @ fFa a9 o qu enm ?

(1) 14% days / f<3 (2) 15% days / f<A
1 2
(3) 16 7 days JAES (4) 18 7 days JALS

HAS
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A, B and C can do a piece of work in 30, 20 and
10 days respectively. A is assisted by B on one
day and by C on the next day, alternately. How
long would the work take to finish ?

A, B @1 C T& &1 %9 30, 20 a1 10 A § X
GFd 21 A I Tk o7 o %9 § B 1 Gean fierdr @
AR ol feq ¢ o1 Heam faear 81 981 w9 AW Fed
Tl TRIER, FMH U FH § fhaT T orm?

3 8

(1) 9§ days / <3 (2) 4§ days / f<3
4 9

(3) 85 days / <A (4) ?’E days / f&3




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A and B, working together, can complete work in
d days. Working alone, A takes (8 + d) days and B
takes (18 + d) days to complete the same work. A
works for 4 days. The remaining work will be
completed by B alone, in :

A 3R B U HY ®W Fd gU fwd ®@E & d & o
T X Thd Bl 3Tkl A i SHI HE H W FH T (8
+ d) f&7 iR e1hct B &1 (18 + d) f&A @ 21 A, 4 f
deh HM H 2l 99 wE W FH | dhd B g femn

T W R
(1) 20 days/f<H (2) 24 days /T
(3) 16 days/fA (4) 18 days/f&T
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A can complete 50% of a job in 9 days and B can
complete 25% of the job in 9 days if they worked
alone. If they worked together how much of the
job (in %) can they complete in 9 days?

A, 9 fEAf o 50% w™ 0 X Thar @ AR B, 9 A |
3T FH H 25% T L Tl 8, ARG F hal- 3T
FTH Fd &1 A 9 Tk 1Y +1H H3d € o 9 fEaf o fepamm
9 (% H) I & Fhal 87

(1) 80 (2) 90 (3) 75 (4) 100
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A does half as much work as B in one-third of the
time taken by B. If together they take 10 days to
complete a work, then the time taken by B alone
to do it would have been

A, Bd¥ fou gt &M ¥ 50%, B g0 fau T ¥9a 9
tw-faer Tma o, w2 uran 21 9 A faeet w5 &
8 & 10 T 5 U 81 9w 9€9R A B Sfehall %
*d , @ fohad Tl o qu s 9o ?

(1) 30 days / f<H (2) 25 days / f&=

(3) 6 days / f&= (4) 12 days / f<7
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Work done by (x + 4) men in (x + 5) days is equal
to the work done by (x - 5) men in (x + 20) days.
Then the value of xis

(x + 4) AfFA g0 (x + b) Tt & fFvan T &1 (x - 5)
sferal g (x + 20) fe7 ¥ fopu U & & @eR ©, @
X &1 9F FarEy|

(1) 20 (2) 25 (3) 30 (4) 15

HAS
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If 80 persons can finish a work within 16 days by
working 6 hours a day, the number of hours a
day, should 64 persons work to finish that very
job within 15 days is :

afs 80 =Afd foreht &1 &1 6 91 fd fa7 w1 wxan 16 f&A
T QU d €, a1 64 AfwE S 9t w15 & § @
*H & fau gfafeq foraa =i s s gm?

(1) 5 hrs. / =2 (2) 7 hrs. / =2

(3) 8 hrs. / ®2 (4) 6 hrs. / =2
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A certain number of persons can complete a piece
of work in 55 days. If there were 6 persons more,
the work could be finished in 11 days less. How
many persons were originally there ?

F Afdd fhdl w1 # 55 &7 ¥ Q0 & ¥hd 7 | AR
6 SAfed 3 B, dl 39 & &l FH § 11 o7 =9 o0 |
IRY § fohad =afed 947?

(1) 17 (2) 24 (3) 30 (4) 22




_
0
M
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A shopkeeper marks his goods at a price such that
after giving a discount of 25%, he gains 20%. If

the cost price of the article is Rs. 460, what is its
marked price ?

Ueh SHMIR 3T o] o1 Jod 39 WohR Afehd hidl @
fF 25% 1 B2 4 & a€ d SH 20% T H Bl 2|

I(< o%] 1 %hd Yo 460 TIT Bl Al IHehT 3Hfehd oI
g 2

(1) 736 (2)I 748 (3)I 725 (4) 752

HAS
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The successive discount of 25%, 20% and 10% is
Equivalent to a single discount of:

25%, 20% 3R 10% o HiTFH F22 o TAGET THd F2
2

(1) 46% (2) 48% (3) 54% (4) 44%

HAS
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A shopkeeper marks an article at a price such that
after giving a discount of 25%, he gains x%o. If the
cost price and the marked price of the article are

Rs. 460 and Rs. 736 respectively, what is the value
of x?

Teh MR Teh a%] ol Jod 39 YR 3ifehd &iar € T
Fford oI T 25% i B < oh dlasa Al 3H x% I
o9 Bl | A 9% % %9 god Ud Afhd oI HE:
460 TIT TS 736 T & a1 x FHT HH F T2

(1) 20% (2) 18% (3) 24% (4) 16%
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The marked price of a dress is ¥ 2340 which is
25% above the cost price. If the dress is sold at a
profit of 10%, the profit earned on the dress is:

T 9 1 3ifehd Jog 2340 U € S AN god 9 25%
stfrer B af€ 29 10% oY 9 o= ST df 26 T A
o 8-

(1) 234 (2) 187.20 (3) 197 (4) 175.50

HAS
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Raghu sold an article for Rs.180 after allowing a
20% discount on its marked price. Had he not
allowed any discount, he would have gained 20%.
What is the cost price of the article ?

T 7 frdt a%g 1 39 Afhd Toa W 20% HT I A
o 9% 180 ¥9C ¥ &=l If 3T ®e &I &1 Bidl, d 39
20% 1 BTl %] T HIqT I ©?

(1) ¥ 190.40 (2) ¥ 192.80
(3) ¥ 188.60 (4) ¥ 187.50
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An article is marked at 100% above its cost price.
After allowing two successive discounts of 5% and
20% respectively on the marked price, it is sold at
x% profit. What is the value of x?

Ueh 9% W I ANd Hod § 100% A gea 3Afehd
e T 21 SAfehd o W HEW: 5% 3R 20% H A
ik B2 3 o o] A T x % W W 9= S 8l x
&1 HH Jd shifsu|

(1) 48 (2) 75 (3) 72 (4) 52
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The selling price of an article is Rs. 816 if the
discount on it is 15%. What would be the selling

price of the article (in Rs.) if the discount on it is
25%7?

fehdlt a%g =1 fasha Ued 816 TUT § AR 3§ W 15% B2
St B Ak 25% B & WW q a%g w1 AR g
(¥UT ) A BAT?

(1) 750 (2) 720 (3) 800 (4) 700
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If the selling price of an article is 32% more than
its cost price and the discount offered on its
marked price is 12%, then what is the ratio of its
cost price to the marked price?

g fordt a%g &1 foa g9, 39 ord o9 § 32%
sfereh & IR o o sifehd ged W@ T e 12% 21
AT Hod IR SAfehd oo 1 ST N 22

(1)4:5 (2) 3:8 (3)2:3 4 1:2
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The marked price of a shirt and trousers are in
the ratio 1 : 2. The shopkeeper gives 40% discount
on the shirt. If the total discount on the set of

the shirt and trousers is 30%, the discount offered
on the trousers is

fehet sheist den Y2 & 2ffehd oo 1: 2 & U | 2|
THHIR HHS R 40% HI B2 3@ €| AE FHHer qeon Te
A W faeme < T g 30% @, 9 e W W e
feradt 2 2

(1) 15% (2) 20% (3) 25% (4) 30%
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When a shopkeeper gives 10% discount on the
list price of a toy, his gain is 20%. If he had given
a discount of 20%, his percentage of gain would
have been

et facdie & 3ifhd e W 10% &1 52 4 ¥ Th

THMER Hl 20% HT 1 2l 21 A% S8 20% HT 522
fer gran, af S9! oy gfavd faar gmar ?

2 1
(1) 65 % (2) 8§ % (3) 10% (4) 15%
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An article is listed at ¥ 900 and two successive
discounts of 8% and 8% are given on it. How much
would the seller gain or lose, if he gives a single
discount of 16%, instead of two discounts ?

TRl o1& o1 3Aferd e F 900 € T 39 T 8% [T 8%

% T HHAR 92 Ry 9 21 Ak F FHaR 922 & e

R fasdar 16% &1 THAR 922 3, 9 39 foham @y =
eI BT 2

(1) Gain of ¥ 4.76 / T 4.76 &1 &9
(2) Loss of ¥5.76 / ¥ 5.76 &l B
(3) Gain of ¥ 5.76 / T 5.76 &l oY
(4) Loss of 4.76 / T 4.76 &l &I
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An article listed at ¥ 800 is sold at successive
discounts of 25% and 15%. The buyer desires to
sell it off at a profit of 20% after allowing a 10%
discount. What would be his list price ?

teh o, e 2ifehd geg 800 %. B, 25% dqe 15%
% HHAR 922 & WY S Al 81 TSI’ @R 10%
FT Teh 9221 S o IUUd Hf 20% M THL S=1 dTEdl

gl ST 3w o sifra goa fauifa s =m 2
(1) T 620 (2) T 600 (3)T 640 (4)T680

HAS
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A dealer buys a table listed at ¥ 1,500 and gets
successive discounts of 20% and 10%. He spends
Z 20 on transportation and sells it at a profit of
20%. Find the selling price of the table.

T SR 1500 T9U | Yedg B T{isdl 8 &R SH W
20% T 10% 1 TIhTHF B I HLdl €1 98 20 TIT
e W T H € 3R 3/ 20% F @19 W 99 3T 2
qSl 1 forshd Hed 9 SIS

(1)T 1,420 (2)F 1,300 (3)F 1,320 (4) F 1.380
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The printed price of an article is ¥ 900 but the
retailer gets a discount of 40%. He sells the
article for ¥ 900. Retailer’s gain per cent is :

frdl g W BW gam T 900 %o g dfe Th T
A T 40% T2 W TR 3§ 900 Fo H

o9 31 T | WL AR W qfqed oy e—

2 1
(1) 40% (2) 60% (3) 66 3 % (4) 685 %
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A tradesman gives 4% discount on the marked

price and gives 1 article free for buying every 15
articles and thus gains 35%. The marked price is
increased above the cost price by

Teh AR 3{fehd Jod W 4% 1 9221 3a1 @ qe1 15 Segei
FI T TS W 1 o] 9 | <1 @ 3R 39 ThR 35%
AT FHAT 7 | Afhd qoI 1 Ha Yo 9 a1 semn T

2 ?
(1) 40% (2) 39% (3) 50% (4) 20%
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PROFIT & LOSS
(enan 3?[1 alfe't)
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A shop-keeper marks an article, bought by him, at 25% above the cost price
and allows a discount of 20% while selling it. What percentage of profit he gets?

U GPHCR U RG] s [hl a¥q Bl dFTd Hed I 25% (€8P IR 3{fdbd Hral
o3R8 d9d T 20% DI ¢ adl o | 3 a1 Ufd=rd o1 =" ™7 gidl g2

a) 5%
b) 4%
C) 3%

d)

> profit or loss
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A person sold two shirts each for 440 rupees. On one he gained 10% and on
the other he lost 60%. What is the overall profit or loss percentage?

U Afad &l [ H Y YD Dl 440 300 H dd | T TR 39 10% 1Y 3R GO R
3 60% DI Bl &5 | THY ATH T 1 UidId o1 572

a) 33%
b) .33%
C) 33%

d) ' 33%

HAS
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3
By selling an article at 2 of marked price, there

is a profit of 25% what is the ratio of marked
price and cost price.

v e 3
foret a%g =1 eifehd go & 2 T o= 9§ 25% H1 A9

gl ®1 3Afhd god 3R %9 qod H1 U B
(1)5:3 2)3:5 (3)3:4 (44:3
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A profit of 12% is made when a mobile phone is
sold at ¥ P and there is 4% loss when the phone
is sold at T Q. Then Q : Pis

i Afesd B TP & L G o= ST df 12% 1 oY
BT © SR Ife T Q W &= ST df 4% I B Bl & |
Q: P F gMm ?

(1)1:1 (2)4:5 (3)6:7 (4)3:1

HAS
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A shopkeeper sold his goods at haltf the list price
and thus lost 20%. If he had sold on the listed

price, his gain percentage would be

Ueh ThMER A 3701 Hiel Fel Hed § 1Y Jod I o=
3R 3T THR 3H 20% Fi eI €2 | 38 A€ gt o W
S gal a 3ifeny &1 gfaerd foRaen g 2

(1) 60 % (2) 20 % 3)72% (4) 35 %

HAS
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Nisha bought a number of oranges at 2 for a rupee
and an equal number at 3 for a rupee. To make a
profit of 20% she should sell a dozen for

fen 3 % U A 2 & feOe 9 %9 @ TR R I
& @R T w0 H 3 & fewed 9 @Sl 20% 1 A1 M
& foU 39 U o4 9@ fohad ¥9U | d=4 =ifeu ?
(1)T 6 (2)T 8 3)T10 @7T 12

HAS




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

By selling 12 oranges for ¥ 60, a man loses 25%.

The number of oranges he has to sell for ¥ 100,
so as to gain 25% is

12 §R T 60 § 9=+ W Tk Al il 25% BI17 Brdl 2
JETER 3 25% o & Tt F 100 H foha HR d= =few?
(1) 10 (2) 11 (3) 12 (4) 15

HAS




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If I would have purchased 11 articles for ¥ 10 and
sold all the articles at the rate of 10 for ¥ 11, the
profit per cent would have been :

IR H10% & 11 Bl T T F9 U T 3= 11 %
& 10 &1 X § d=dl, d@ a1 Hfawd sh-

(1) 10% (2) 11% (3) 21% (4) 100%

HAS




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A man purchases some oranges at the rate of 3
for ¥ 40 and the same quantity at 5 for ¥ 60. If he
sells all the oranges at the rate of 3 for ¥ 50, find
his gain or loss percent (to the nearest integer).

T AEH 59 Hal 40 99 | 3 o 9ie § @dSd © qel
31 B 9@ 60 T H 5 o 9@ 9| A el Fadl hl 98
50 T08 § 3 o 99 W d9al € d SEhT Uiavd ord 91
gl THehead qulieh dh A1d 7

(1) 32% profit / <4 (2) 31% loss / B
(3) 34% loss / =T (4) 31% profit / <4




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A dealer sold a bicycle at a profit of 10%. Had he
bought the bicycle at 10% less price and sold it at
a price ¥ 60 more, he would have gained 25%. The
cost price of the bicycle was

Ueh faghdl 9 T TEfed 10% & o9 ) =96 I I8
qrsfehel 10% %H HiFd T THEdl 3 39 60 TIT 3y
& W d=dl dl 39 25% F1 AT BA1l WEfhd H AN
g1 o

(1)T2400 (2)T2600 (3)T 2000 (4)T2200




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Renu bought an article for ¥ 1,240 and sold it at
a loss of 25%. With this amount, she bought
another article and sold it at a gain of 40%. Her
overall percentage profit is :

A TF 9 T 1,240 ° TR R W 25% TR W 99
feam su fr 9 ST SR o =l S SH 40%
Y W o9 @ { # Fa et fha gfaea @y
ga?

(1) 12 2) 6% (3) 5 (4) 15




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A trader sells two bullocks for ¥ 8,400 each,
neither losing nor gaining in total. If he sold one
of the bullocks at a gain of 20%, the other is sold
at a loss of

Toh SAGN &1 9, T9H7 8,400 T 9=l & 3R 37 |

T Y FHAM €, 7 B Tedl 81 9BIER, 9% 399 379 9
TH H 20% 9 W 991 T, @ W I fHadt B W

EELERIP

2 2
(1) 20% (2) 185% (3) 147% (4) 21%




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A milkman mixes water with milk and sells the
mixture at the cost price of pure milk. The vol-
ume of water in litres to be mixed with each litre
of milk to get a 25% profit is

O ool 39 | U fgerar € IR fagv @l gs gy &
ANTd Jod T o=l 21 9fd <fiet g¢ o fhad et art &t
A o ST =nfey 99 39 25% @19 38l ?

L 1 1L
(1) @) 7 317

(4) cannot be calculated without knowing the cost




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

3
A shopkeeper sold 2 part of an article at 20%

gain and remaining on its cost price. W?hat is
his actual gain in this transction ?

3
e SRR 5 Teh o] ol 2 T 20% T T a1 3

I A IHEH AN oI W o9 4 9KIER 3@ @ 9
T 391 drider oy fehar @I?
(1) 10% (2) 15% (3) 20% (4) 25%
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A merchant has 1000 kg sugar, part of which sells
at 8% protit and the rest at 18% profit. He gain
14% on the whole. The quantity sold at 8% profit
IS :

T AR o 9@ 1000 TR = B sud 9 e femm
IE 8% T W AT 9N 18% ol W s=al &1 | T o
S 14% o9 Bl € Ol 8% oy W femaHt =i+ s=n?
(1) 560 kg. / fFm. (2) 600 kg. / fm.

(3) 640 kg. / fam. (4) 400 kg. / fFm.




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

Two types of tea costing ¥ 180 per kg and ¥ 280
per kg should be mixed in the ratio so that the
mixture obtained, sold at ¥ 320 per kg to earn a
profit of 20% is

F 180 ufa fevm 3 F 280 ufa ferm v a1 f forey
&1 =9 fha U | fien < we fo g fago & T
320 3fd fm &t R W o= W 20% 1 o1y 31fsid &l ?
(1) 3:13 (2) 1:13 (3)4:13 (4) 2:13

HAS
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To gain 10% on selling sample milk at the cost
price of pure milk, the quantity of water to be
mixed with 50 kg. of pure milk is

IS 9 & HI oI T TAYA-3Y d9Hh 10% 9 I
& & faw 50 for 3§ 9 # art &t foraet @ i
B 2

(1) 2.5 Kg. / T (2) 5 Kg. / T

(3) 7.5 Kg. / . (4) 10 Kg. / T
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A man buys two chairs in total cost of ¥ 900. One

-+
is sold at 5 of cost price and other at 2 of cost

price. In this transaction, there is profit of ¥ 90.
What is cost price of chair whose price is less

T TEHT < HGAT A T 900 HI AN H T 81 Th
I ITH! AN & %Wﬁ?{eﬁaﬁwﬁwﬁ itﬂ

99 L 39 FHol A F 3H AT | T 90 TN ATH BT
21 HH M Tl HH H NG 2

(1) 360 (2)I400 (3)%T420 (4)T 300




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The marked price of an article is 20% more than its cost price. If a shopkeeper
make a 40% discount on that item and sold it at Rs. 2592. What is the marked
price of the item?

Uh 9% @1 Siidhd Hed 39 ol e Y 20% 3P g | dlc DIg ghHaR 39 axd
TR 40% I ¥ adl g AR I 2592 3L H &9dl g | 9¥d DI 3ifdbd G 1 52

a) 's. 4020
b) . 4000
C) s. 4320

d) s. 3600
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Total cost price of notebook and book is Rs.350. The profit percentage earned
after selling a book and a notebook is 15% and 10% respectively. Total selling

price of a book and a notebook is Rs.395. Find the difference between the cost
price of a book and a notebook.

qledd 3R Y&id BT Dd oy Hed 350 3T ¢ | J&Kid 3R Alcdd dd o dlq
3ot AT UIA=IT HHTT: 15% AR 10% ¢ | UP [hdld 3R Up Alcdd &l d 9y
U 395 304 g | U YD 3R UP Hlcdd & hY e P &g P 3aR J1d P |

a) 3.50
b) 3.80
C) 3.90
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COMPOUND INTEREST! ™
REVISION
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In how many years will Rs. 2,000 yield Rs. 662 as
compound interest at 10% per annum compound-
ed annually

qiftich =ehdfg § UM Hd gl\ 10% 9fqd a4 aftieh

Tehel(§ TS hi T [ELERCLIl ﬂ@@z

o e
eqU THAT[/

(1) 3 (2) 2 } [4) 5
) _ I%’I _G')




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The amount received at 10% per annum com-
pound interest after 3 years is Rs. 10,648. What
was the principal (in Rs.)?

t\ ~~ dueh {10%) i Tshdlg SATS hi I ﬁ@ C I GG

o el fwm@m oAl g (¥9A H) T ofr?
(1) 8000 (2) 9000 (3) 8500 (4) 7500

A "
x”xﬂ—_—_??vﬂ/ WW

[ 1
\‘0} lo |U '9—@-2)\‘9 [(9—6-0 W = [0-0/\”(?

= £0-80
Wg E—

HAS




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

nd M ofuoe
]ﬂwma’«l

The interest on ¥ 24,000 in 2 years compounded
otbt “]1’- % annually when the rates are 8% p.a and 10% p.a

0 successive years is:
P+10+8x2 — 5 (24 000 @ rwhcﬂlqs =TS I At Haifad @
\d‘ S| FFTI?IR ) anfier qen (10% =nfie 2-
M (1)33,994 (2)4 512 (3) 5,040 ( (4) 35,866
_’_

—1




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A certain sum amounts to ¥ 5,832 in 2 years at
8% per annum compound interest, the sum is

FIE I Fhegfg =arst FI(8 Yfawa afieh W & 2 o
H 5832 %0 B WAl LA G B
< 5,000 0,200 (3) 75,280 (4) T 5,400

@ 1
5 p _)Ql;j 9y ) 62

= §0a0
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/lf,[L Q §122

A sum of ¥ 8000 will amount to ¥ 8820 in 2 years

if the interest is calculated every year. The rate of
compound interest is

fs =T i MO 9fd 99 & SMER W sl SE, df 8000
&t AT T T H T8820 B S| TR 39 ThglG
ST 1 X TohaAl @ ?

(1) 6% (2) 7% (3) 3% (4) 5%

9
-]

1> 4
S I 2.
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Mﬂm]g@

40

O\

What is mpound interest on a sum of 4
7200 for 2@}7631'83 20% )p.a. interest compound-
ed yearly (nearest to an integer)?

qteh &9 9 Faiftsd dshdig oSl ol TOMT hi Y

‘ 200/oqﬁaﬁaﬁa?ﬁ2§aﬁa%m7zoomﬁ
ST W Fhglg o fohadr gim? (Feean quiies deh)

(1) # 4,290 (2) 7 3,960
) # 4,205 ( 3,997

297 |
%o F4x 5 v 2
4’ 5 199171




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

<90 ® What will be the compound interest (nearest to
Re.1) on a sum of Rs.25,000 for 2 years at 12%
@ TR p.a., it the interest is compounded 8-monthly ?

! 25,000 FUT sl &R W 12% Gfd 96 &1 X 9 2 99
D@“_{—Ld - 3 4] T ghdfg = (ehedq ¥q¢ H) = I =S 9id
O 8-HE HIIfd Bidl 27
NS T N\
(1)¥ 6,394 (2)376,439, (

p=dsom  E%/km

< 6,493 (4) ¥ 6,349




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

v

A sum of Rs. 20,000 is invested for 15 months at
the interest of 10% per annum compounded half
yearly. What is the percentage gain, correct to
one decimal place, at the end of 15 months ?

20,000 TUU hHi YA aﬁ@ gfd a8 HI W I
HAgUh BY Y HANSA =hgfg o W 15 A o fag
frafya fear M 159 5 3fd ° A (ST

% T WM 9% IG) 1 B ?
(1) 12.5% (2) 13.6%

S ol 10

(4) 13.4%
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A sum of ¥18.000 is invested for 16 months at
8% per annum compounded half-yearly. What is
the percentage gain at the end of 16 months, to
the nearest whole number?

18,000 %. @i TRT &l 16 HEH o faluw 8% Alftieh i X
g, srgarfts GaIfd Tshatg oars ) fFerer fean s @
16 HEH o 915 Yfavd oy (SIMAT oh Teh 3T doh)
fepam BIm?

\[1) 9% (2) 11% (3) 10% (4) 12%

@




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If a sum of mo n compound interest becomes
three times in 4 yeays, then at the same interest

rate, the sum will become 27 times in:

C{ﬁ‘—@(ﬁ x'i Ifg whig U 9R 9 § Ishdfg oae W

"~ ™ ™
BRGNS G

| | g, d@ SH &N W W g8 M ' H 27 T @
~|—W 1 WH‘/ ST 2
(1) 15 years/ad ) 12 years/dd

0

0:45
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A sum of money doubles itself in 4 years at
compound interest. It will amount to 8 times itself
at the same rate of interest in :

HTE YN ThgG A H 4 I H AT B T 2| TS
TRT 79 ¥ 8 T SH AN H W g o
1 ST -
(1) 18 years / =¥ 12 years / 9
(3) 16 years / =d (4) 24 years / 9




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If the compoﬁﬁd interest for the 3rd and 4th year
on a certain principal is Rs. 125 and Rs. 135 re-
spectively, what is the rate of interest (in %)?

el gored W diEr 3R =g ad o fou aswdfs =
H: 125 T IR 135 TIC 2| = 1 R 71 € (%
) ?

(1)9 (2) 10 (4) 12

L
|

‘%S (35
X7

HAS
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A sum of ¥ 18,000 is lent at 10% p.a. compound
interest, compounded annually. What is the dif-
ference between the compound interest for 3rd
year and 4" year ?

18,000 TUW =t T Al 10% Gfd o9 i <X F dIftieh Y
Y HAIfTd =ehatg <A W SHR fea @ die 3R =
a4 o Thdfg SIS o WF A AW € 2
(1) ¥ 220.60 (2) #217.80
(3)  221.80 (4) 7 215.40
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An amount of Rs. 5000 becomes Rs. 7200 in 8
years at a certain rate of compound interest com-
pounded annually. What will be the compound
interest on Rs. 6550 in 4 years at the same rate
of interest ?

5,000 ¥ &l Teh ¥R T Ffv=a aftie = T
gfged W 8 &8 ¥ 7,200 ¥4 B Sl €, Sefh AT |
aiftier YR W =shdlg fohar STar 21 8 < X W 4
a9 ¥ 6,550 T &I 40 R fFaT Thafs = W
BAT 7

(1)¥1,285 (2)T¥ 1,310 (3)T 1,290 (4)T 1,415




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If the compound interest on a sum for 2 years at

1 _ . .
125% per annum is ¥ 510, the simple interest on

the same sum at the same rate for the same period
of time is :

aﬁﬁ?ﬂ%wﬁﬁl%%matﬁzaﬁaﬂ

Thdfg AN 510 To B, d I &URT *1 36 T d

It B HHIAEY T "IERT AT B—
(1) T 400 (2)T480 (3)T 450 (4)T 460




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The difference between the simple and compound
iInterest on a certain sum of money at 5% rate of
interest per annum for 2 years is % 15. Then the sum

IS .

frdt &t W 5% ofieh A ki L H 2 99 &
TR0 3R Tehglg oS 1 HW 15 To g dd o
CERIN IS

(1) 6,500 (2) T5,500 (3)Z 6,000 (4) T 7,000




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A sum becomes T 2,916 in 2 years at 8% per annum
compound interest. The simple interest at 9% per

annum for 3 years on the same amount will be
Tah TRT 8% Ffd 9¥ wshdgfg o< W 299 § T 2,916
g S 71 SH U W 9% Ufaad |iEme S w9

399 & fau =ae ghm—
MT600 (2)TF675 (3)T650 (4)T625

HAS
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A man borrows ¥ 21000 at 10% compound inter-
est. How much he has to pay annually at the end
of each year, to settle his loan in two years 7

Teh SAHT 10% Fehdfg =AM 9T 21000 FIT 1 F0T ol
21 B TY & 3d § Y aUer fomar Ui < w2 R
aul H U1 1 A &l S, ?

(1) 12000 (2) ¥ 12100 (3) ¥ 12200 (4) T 12300
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SPEED TEST-10

P



%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The average of 50 numbers was 60. Later it is found that a number 76 is
wrongly written as 67. Find the correct average.

50 IT31T T 3T 60 4TI 91 H g AT 7141 fb U T=AT 76 Pl ITad dildb I 67
forar T o1 Tl 3d J1d HIfSTg|

a) °
p) o1
c) os
d) o

HAS




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

Iftheratioofa:b=1:3,b:c=2:5andc:d=2: 3, then find the value of a :

b:c:d.
gida:bdI3UId=1:3,b:c=2:53Rc:d=2:3g,dda:b:c:ddIHAH
3T iU
10:15:40
a)
b) 9:12: 30
C) 12:30: 45

d) 8:12: 20




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

A sum of money three times itself in 40 years at Simple Interest. Find the rate of
interest.

Udh ¢RI JIYRUT TS UR 40 98] H TG BT il AT 8l Sl o | SATSl &R JTd
DIfoTU |

E"l‘

a)
b)
c)
d)

:::I""-

E"l‘

:::I""-
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The compound interest on a certain sum for 2 years at 20% per annum is Rs.
792. Find the simple interest if sum, rate, and time remain the same.

U A AR TR 2 991 D 1T 20% B 91t &R I Ihdls A 792 ¥UT 5| Al
AR S 3R JHY GHME Bl dl GIYRU AT JTd Diford |

a) 0
b) o
C) 0

d) o




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A maximum length of a pencil that can be kept in a rectangular box of
dimensions 8cm x 6 cm x 2 cm, IS

0P URId & 3Mf¥hdH darg ford 8 IHt x 6 YT x 2 JHT Ml & AAdIHR (e
G ST IHdl 6, ©

a) 13 cm
b) 14 cm
C) 126 cm

d) N2 cm

HAS




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

In an election, two candidates have participated. 20% of voters did not cast their
votes, 20% are declared as invalid. If the winner got 60% of the valid votes and
won by 23040 votes, then find how many voters are there in the voting list?

U 1d H, <l IMHIGaRT A HIT fen €1 20% Adardrst 3 #der el faar, 20%
D1 A HIfNd DR [T 7| gic fasidr i 94 Tdi b1 60% UId gidl & 3R 98
23040 Tdl I Siidl g, d Ade gt § fbd- adardr g2

a) 30,000
b) 50,000
C) 20.000

d) 00000
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Two taps A and B can fill an empty tank in 7 hours and 6 hours respectively. if
the taps are opened every alternate hour starting with A then in how much time
the tank will be filled?

&l A A 3R B hHT: 7 B¢ 3R 6 €¢ T U @leil ¢l I WR Ahd ¢ | Al Ad A
= BlId gU YD d UPicR ©c & (o8 @id Sild o, dl el [ba- I9g H U=

SITu}?

a) 0urs
b) > hours
C) 0urs

d) > hours
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The difference between the simple interest and compound interest for two years
on Rs. 15000 at a certain rate of interest is Rs. 96. Find the rate of interest.

151 Bl U [f8d G TR 15000 3UT TR 2 IN[ o dehdlg &S] 3R TR TS
BT 3R 96 DUT gl SISl & JTd DIfoIT|

a) °©
b) *
c) ¢

d) s«

HAS
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If Punit purchased goods of Rs. 450 and sold 1/3 of it at a loss of 10%, then
what should be the gain percentage on the remaining items that should be sold

so as to gain 20% on the whole transaction?

gfc G-I o 450 $UU T Y JRIGT 31R 1/3 DI 10% N4 WR o9 f&ar, df Ay
oI-e R 1Y Ufd=rd &1 g1 d1ig U difd U d-a IR 20% dTY 87

a ) %
b) »
c) «

HAS 0
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Find X, 57% % of 63 + 16% % of 72 = 62% % of x2 + 8

63@57%%+?2${16§ﬂfn=xfﬁ62§ % + 8 H x JId DIol |

a)
b)
c)
d)

HAS
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To cover a distance of 60 kilometers, Aamir takes 4 hours more than Salman. If
Aamir doubles his speed, he will take 2 hours less than Salman. Find the speed
of Amir.

60 fabalTiicr Bl gl 08 B H, PR JAHM A 4 6 38D ddl g1 3R SR
31U 71 GIHT PR &dl §, Al 98 JaHM & 2 °¢ DH U A1 IR Bl 71fd F14

a ) km/h
b) km/h
C) km/h

d) kmn
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A motorboat cover 105 Km in 7 hr along the stream. Due to some technical
problem, the time taken to cover the same distance against the stream is three
times the time taken to cover the same distance in downstream. By what
percent did the speed of the boat in still water reduces if the speed of the
stream is 3km/hr?

U HICREIC 3Wag H 105 [hH! Bl gl 7 €< H a8 Bl ¢ | DD ddb-Id| WRdl &
DRI, A &30 bl Uiduarg d a7 H- o feram a1 997 guH ¢l &l 3ydrg o

04 DA H 10 7T 0 BT i A1 5 | Al SR Dl a3 fabei/eer g df R urHt o

19 31 Tif # o ufa=rd &1 wt arrdt 82
a) 3.33%
2%
b) 5.66%
C) )%

d) o
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A, B and C can do 1/4™ of work in 15 days. After working with B and C for 24
days, A left the work. B and C continued to work and took 48 more days to

complete the remaining work. Find in how many days A will complete the whole
work working alone?

A, B 3R C U DM o 1/4 U @l 15 &1 T U1 DR gabd ¢ | B 3R C & 1Y 24
[ TP B DA & d1a, AP BIS adl gl B 3R C HMH SR Wd g 3R AY
HTH GRT B H 48 &1 &1 SfdRad 90 dd g1 A 3fdbel HIH Dd gU HYUl B
Bl fbd- fa-T O 1 B2

a) ’0 days
b) )0 days
C) 0 days

d) )0 days




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the total number of factors of '900".

'900" o TUIFRAUS| B el TAT JTd DIfoIY |

a)
b) -
C) 8

d)

HAS




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A student covers 25% of the distance to school on cycle, 20% of the distance on
a bike, and rest in a rickshaw. While coming back he gets a lift from his father
whose vehicle speed was 36 kmph and they reached home in 20 minutes.
Calculate the distance covered by the boy in the rickshaw.

Udh ST Algfdd I Ihd I gol Dl 25%, dI5D  20% DI a3l 3R Y a3l Rl
g Bl o | 199 S1d U 394 39 Udr 3 [o19e ot foHat arg @ 11id 36

fop it ufc ger dt 3R 9 20 [FHT § @R Ugd U] RaRl d dsd gRI 09 DI 715 a3l B

O] B | )
q) 200m
b) 200m
C) 500 m

d) 300 m




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A person travels at the speed of 12 kmph, 18 kmph and 36 kmph on an
equilateral triangular plane. Find the average speed of the journey.

Ush Afad (bl JHag HYSTHR HaH WR 12 fbul ufd e, 18 fawl ufd ger sk
36 fhdl Ufq Her ot 1fd I g3 HIaT | AiET i 3d i 1 DI |

a) ) fodT ufd geT

b) ) T Al ufd der

~ O

C) t foo AT ufd ger

d) 3 foet ufay ger

HAS




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

If 2 men or, 6 women or, 4 boys can finish a work in 88 days, then how many
days will 1 man, 1 woman and 1 boy together take to finish the same work?

gfc 2 4oy 11, 6 AigdIU 1 4 dSd 88 feAl T U By URI DR Hhd 6, dl 34 DRI
@l 1 9oV, 1 Higdl 3R 1 dsdl [HAHR fba- fa=i § URI R Jdd 572

a) 7
b) e
C) 5

d) .

HAS




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

After allowing a discount of 12.5% shopkeeper makes a profit of 25% on a bag.
At what percent higher than the cost price did he mark the bag? (correct to
nearest integer)

Uh d¥d IR 12.5% Pl 9 &4 D dIc U GhIHaR 25% dIH HHII g1 I a& @l
3{fhd ged, hd ged Y fba- uld=ra siieis FeiRd fabar 7ar ure (Redead gunia

GEZRS)
a ) D.—";ﬂ
b) %
c) %

d) «




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A certain sum amount to Rs. 20720 in four years and Rs. 24080 in six years at a
certain rate of simple interest. The sum (in Rs.) is:

U (A fA AROT <A D T 3T G 1 aR auf H 20720 2. 3R I avl A
24080 %. Bl SIdl o | dg A (3. H) HT 572

a) 00
b) 000
C) ooo

0:4 5.




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the range of 2, 3, 5, 9, 15, 21
2.3,5,9, 15, 21 &I U J1d DIl

a)
b) °
c) °

0:4 S




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The HCF and LCM of two numbers are 8 and 288 and one number is 32 then
find the second number.

&l TS & HedH UGS 3R dUTH JHUGAD 8 3R 288 T 3R Udh Il
32 & d9 ¢RI &7 J1d DIfoTU]

a)
b)
c)
d)




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The ratio of lengths of base of a parallelogram and a triangle is 1 : 2 and their
area is same. Find the ratio of their corresponding heights.

Uh JHIAR AU 3R Ueb FAYS & TR Dl ddlg PI 3HUMd 1 : 2 § 3R 37D
A U g | 3! Td FHd1gdl BT 3gUrd J1d HiSig|

a) :2
b)
C) 1

d)

HAS




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Nikita takes as much time in running 18 meters as a car takes in covering 48
meters. What will be the distance covered by Nikita during the time the car

covers 1.6 km?

[Afdbdr 1 18 Hiex ars H Id-T ol THI AT © foId-1 U HR @l 48 HIcR I g3l
d B U Il g | 579 9T BR 1.6 Tl df gl 98 Sl o, 39 G [Hidbdl
GRI T DI 5 G2 HT BRII?

480m

520m

600m

800m




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Kirti starts a business with Rs. 10,000 and later Suma joined her with Rs.
30,000.After how many months did suma joined, if the profit is distributed in
equal ratio at the end of year?

@il 10,000 3T o 1Y U HIAT IR= Bl & 3R &G H AT 3P A1 30,000
S & 1Y M g1 STl ¢ | AT [ Hgi- 916 M g5, dfc ay & 3id J ard
A 3urd H faaid faar Sirdr g2

8 months

3 months

4 months

9 months




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Areservoir is filled by 2 inlets P and Q in 4 hours.Inlet P is 4 times as fast as Q.
How much time will inlet P, alone take to fill the tank?

Uh STATRM 2 HARI®ISH P 3R Q GR14 °¢ H 4R ST g | YaARIPI P, Q I 4 THT ool
g1 THI YA & (A1 3{dcl ARSI P &I [dd1 0y TT?

5 hours

6 hours

{ hours

8 hours




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The area of a circular hall is 154 hectares. Find the cost of fencing the hall at
the rate of 50 paise per meter.

Uh JAIPR Bl Dl &FABd 154 oddR o 50 U Ufd Hiex I R A gld 1 a1
eI &I AFTd J1d PIfoT|

Rs. 2200

Rs. 2000

Rs. 1500

Rs. 1800




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Sohan got 30% of the total marks in an exam and failed by 50 marks and
Mohan got 45% of the total marks in the same exam and got 25 marks more
than passing marks. Find the passing marks.

qIg-1 U URI&N H D 3l b 30% U Hdl & 3R 50 3P| I {xiI0l gl STl &
3R Ag 31 uRi&n § T 3P| b 45% UG DRl © 3R Il 3hi I 25 3
3{f¥ YT Hl g | STl 3 J1d DI

225

200

300

275




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the Median of given numbers: 6,4, 1,8, 5,12, 24,7,9,4
dl 11 FATSHT Bl HIEIDT J1d HIGIT: 6, 4, 1, 8,5, 12, 24,7, 9, 4

18

8.5

6.5

12

HAS




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A metal solid cube of side 22 cm is melted to make a cone of height 21 cm.
What is the radius of the base of the cone? (Take 1T = 22/7)

22 YH] YOIl & UP YT D 19 °- B! f[Tacihr 21 HI 3 dls DI UP U -1
Sl B | 2P & TR P B8 AT g2 (1 = 22/7 W)

11 cm

16.5 cm

22 cm

27.5cm

HAS




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The area of the sheet metal needed to make a box ofsize 7 cm x 8 cm X 9 cm Is:

U 7 AT x 8 Il x 9 [ & PR b 9 Dl d-4H & [¢IT 31aRTD ¢1d bl dIaR
CARAP LGS

156 cm?
382 cm?
139 cm?

412 cm?

HAS




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A mixture contains milk and water in the ratio (by volume) 5 : 3 and another
mixture of the same volume as that of the former, contains water and milk in the
ratio (by volume) 1 : 3. In what ratio, two mixture be mixed in order to obtain a
new mixture consisting of milk and water in the ratio (by volume) 7 : 37

U A0 G 3R Sd D1 U (HE S-R) 5: 3 © SR Ugd [H%01 & JHH
OTET & U R [0 H S 3R g8 BT 1d (HEAT I9R) 1: 3 Tl qY 3R ofd &

3UTd (HHET $AR) 7: 3 9 [HdDR §4 U =8 {001 I UIed HH & U 34 g
[Tr8(o1 &1 fb g 3urd o {Hid fobar S angue?




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A work can be completed by 35 workers in 30 days. If 5 workers leave after
every 10 days then in how many days will the work be completed?

30 faHl T U Br 35 YTl GRT ORI a1 Sl Gobdl o1 Afd Udd 10 fadi 1 5

-

YT DI BIS &d & dl Ig DM fdd- &A1 J U1 gIT?

50 days
40 days
35.5 days

37.5 days




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The diagonal of a square measures 6«/5 cm. The measure of the diagonal of a
square whose area is twice that of the first square is.

UFH I & [AH Ul BT AU 6+/2 JHI 51 3T T b (B[ BT HIY a1 g o]
& d Ugd 9l Bl G 572

64/2 cm
124/2 cm

12 cm

6 cm




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A woman travelling at 130% of her usual speed reached her office 12 minute
early. Her usual time to cover the journey is:

Uh Higdl 3T FH Tfd I 130% R ddd gU 12 & Ugd 319+ diied Ugdl |
A 39D 59 AHT UR A a1l 99 o

0.87 hr

0.48 hr

2 hrs

1hr




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Parikh sold his pen at a profit of Rs. 11. He calculated the profit percentage on
selling price and found it to be 25%. The cost price (in Rs.) of the pen is:

qTiRg = 3101 Hdq 11 399 & A IR &4l | 394 [dehd T IR A1y Ufd=rd o
MU DI 3R 5 25% TIAT| HaH &I Hd Hed (394 H) o

24
33

36

HAS )




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A bag contains ten rupee, five rupee and two rupee notes in the ratio 10 : 5: 2.
The total value of five rupee notes in the bag is Rs. 84 more than that of two
rupee notes. The total value of ten rupee notes in the bag (in Rs.) is:

Uh 1 H 10 :5: 2 @ YA H a9 394, Uid 394 3R al 39U & Al g | &1 H Uid
Y & HIc] Dl pd Hed, ol YT & HIC I 84 30 3D gl & H & 39 o Al
P Hd I (3T H) B:

300

400

450

350




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

After allowing a discount of 12.5% shopkeeper makes a profit of 25% on a bag.
At what percent higher than the cost price did he mark the bag? (correct to
nearest integer)

Uh d¥d IR 12.5% Pl 9 &4 D dIc U GhIHaR 25% dIH HHII g1 I a& @l
3{fhd ged, hd ged Y fba- uld=ra siieis FeiRd fabar 7ar ure (Redead gunia
dd dol)

41%

43%

38%

35%




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A certain sum amount to Rs. 20720 in four years and Rs. 24080 in six years at a
certain rate of simple interest. The sum (in Rs.) is:

U (A fA AROT <A D T 3T G 1 aR auf H 20720 2. 3R I avl A
24080 %. Bl SIdl o | dg A (3. H) HT 572

15000
14000

11000

M -




